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o [TXYX1=(8XY)=(X,SY)=[X,TY] ¥xYehR

°[TX¢I] = (lei) =
[ CA-AD AT AU+ (A'Ao)ABABTA} l_\,( J
T\ LBAY(A-ADu+ (BAYBRC)A [, [
=((A-A)ATAu )+ ((A-A)AT' BT V) +
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[FX T = (K X) = ((A-As) wu)+ ((BAYEHC) A1)
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(64) lR"xIR"a X:(g) = (é’) O (i"‘) , @ [T't-]:[3.1.>

where u, € n": A a4 BA=® (3 since As sPD),
Then it is stracghtforwand 4o Verify that
@) (Auy yy) = (BA'BTAN)

@ [T(2), (] = (s(49),(3)) =

= (A4 A2 A st )+ £ ((A-AA B4, )« (BA'RA.0)+(C4,)
=-A M
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== (AJ1Aug Auy) + (Auqity) * (BAZITA A) 4 (CA L)
<0TA =-0A G = (BAUHTAY)

= (BAMRTA X))+ (CA LX)
i) [ (8), (012 [T .81+ [T (), ()
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